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B. Ed. (Sem. II) Examination
May/June - 2015
EC-14 : Educational Statistics

Faculty Code : 004
Subject Code : 001206

Time : Hours] [Total Marks : 70
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(3) ol Rewdtl 6d Yoo Guadldi % avial.

(¥) sl auR [Rsedl salddl 8 dl Guz a2,

Instructions : (1) All Questions are compulsory in Section-I.
(2) Do as directed for Questions of Section-II.
(3) Write both the sections in Main Answer Book.

4) If you indicated more than one option, your
answer will be considered incorrect.
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ENGLISH VERSION

SECTION - 1

M.C.Q. 20

In construction of frequency poloygon which factor is on x-axis ?

A)
®)
©
D)

Class Boundary Point
Central Value of Class
Frequency

None of above

Ratio of standard deviation and mean multiplied by 100 is

A)
®)
©
D)

Percentile Rank
Percentile
Coefficient of variation

None of above

Who gave rank difference method for finding coefficient of
co-relation ?

A)
®)
©
D)

Spearman
Coxtan
Karl Pearson

Browali

Percentile rank of Raju is 89 in the class of 40 students, then
find out simple rank of Raju.

A)
®)
©
D)

5

6
7
8
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5  Which value is measured of Central tendency when last class
is open in frequency distribution ?

(A) Mean

(B) Mode

(C) Median

(D) All of above

6  Which of the following characters is right for coefficient of
correlation ?

(A) Absolute measure

(B) Independent from unit
©) r&xy =r Fx

(D) All of above

7  Find out first quartile deviation of following
Score: 21, 23, 28, 31, 36, 32, 27
A 32
B) 4.5
©) 23
O 5.4

8  If price increases then demand decreases. Which type of
correlaton is indicated by this statement ?

(A) Positive correlation
(B) Negative correlaton
(C) Zero correlation

(D) None of above
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9  State the value of coefficient of correlation
A 0tol
®) 0
©) 1

DO +1to-1

10 Find out the median of following score
15, 18, 19, 22, 28, 24, 17
A 19
B) 18
(C) 24
D) 22

11 “There will be no difference between boys and girls in lan-
guage pronunciation clarity”’; state the type of hypothesis.

(A) Applied Hypothesis
(B) Classical Hypothesis
(C) Research Hypothesis

D) B) and (C) both

12 State the formula of Mode

A z=2m-X

B zZ=3M-X
© z=3m-2x

D z=2M-3X
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13 Which of the following variables can be only predited in effect
of independent variable on dependent variable ?

(A) Control variable
(B) Moderator variable
(C) Intervening variable

(D) None of above

14 Which of the following basic processes is done on ¢ -score ?
(A) Addition
(B) Substraction
(C) Multiplication
(D) All of above

15 Find out T-score when row score = 42, Mean = 50 and stan-
dard deviation = 10

@A) 42
B) 58
©) 52
@O) 50

16 In frequency distribution less frequency at lower end indicates
which type of skewness ?

(A) Positive side
(B) Negative side
(C) Right side

(D) None of above
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17 Give relation between standard deviation and quartile devia-
tion in normal probable curve.

A) PE =0.6745 o
B) o = 1.4826 PE
(C) PE =0.6754 o
D) (A) and (B) both

18 Give meaning of P,y = 65
(A) Sudent got 85 score is superior to 70% of group
(B) Student got 70 score is superior to 85% of group
(C) 85 score 1s superior to 70 score

(D) None of above

19 In normal distribution curve 68.26% frequency is situated
between

A -1ogto+lo
B -2 0 tot+2 ¢
C) -3 octo+3
(D) None of above

20 Which of the following is used to compare relative position in
the group ?

(A) Percentile Rank
(B) Mean
(C) Percentile

D) (A) and (B) Both
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1 Give
1.1

1.2
1.3

SECTION - II

brief answers of following questions. 6

What is the meaning of Central Tendency ? State the
measurement of central tendency.

State any four characteristics of T-score
If mean = 12.84, Median = 12.5 and standard

deviation = 2.01 then find out skewness and interpret the
results.

2  Answer any five of the following : 15

2.1
2.2

2.3

2.4

2.5

State any six characteristics of Normal curve.
Mean of science achievement test for standard 9th is 70 and
standard deviation is 10. The row score of Shrey is 60 and

of Tanmay is 50. If ¥=100 and SD = 20 then find out
standard score.

Explain Research hypothesis and null hypothesis with illus-
tration.
State points of difference between Histogram and frequency
polygon.

Draw the smoothed frequency polygon of following frequency
distribution.

Class

20-24 | 25-29 | 30-34 | 35-39 | 40-44 | 45-49 | 50-54 | 55-59 | 60-64 | 65-69

Frequency

2 3 8 10 5 12 15 2 7 3

2.6

If mode = 48.20 and mean = 48.56 then find out Py,

3  Answer any three ot the following question. 15

3.1

State use of median and find out the median of
following frequency distribution.

Class

30-34 | 35-39 | 40-44 | 45-49 | 50-54 | 55-59 | 60-64 | 64-69 | 70-74

Frequency

5 7 3 6 3 3 3 4 1

3.2
3.3

What is variable ? Explain its types with illustration.

The scores of 12 students of standard 10th in science and
maths subjects are given below from the given data. Find
coefficient of correlation by Rank difference method.

Student [ 1 [ 2 [ 3 [ 4[5 |6 |7 |89 [10]11]12

Science |30 [10 [ 28 |12 {26 (14 |20 |18 |16 |22 |20 |24

Maths |22 |13 (20| 8 |24 |10 |18 |15|17 |19 |16 |18
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3.4 Explain the Kurtosis of Normal curve and if

Pgy = 187.0 P;;=152 and G = 28.28 then find out the
Kurtosis of curve.

4 (a) Answer any one of the following : 7
(1) State the meaning of quartile deviation and find
out the quartile deviation of following frequency
distribution.

Class 80-84 | 75-79 | 70-74 | 65-69 | 60-64 | 55-59 | 50-54 | 45-49
Frequency 1 2 2 5 12 7 5 2

(2) Give meaning of percentile rank and percentile.
Draw the cumulative percentage graph of following
frequency distribution. Find out Pgs and PR = 72
from cumulative percentage graph and interpret
the result.

Class 81-85 | 76-80 | 71-75 | 60-70 | 61-65 | 56-60
Frequency 2 4 5 6 9 10

Class 51-55 | 46-50 | 41-45 | 36-40 | 31-35 | 26-30
Frequency | 12 8 7 5 4 3

(b) Answer following questions : 7
Compute the coefficient of correlation for following
data by product moment method and interepret the results.

12-13 | 14-15 | 16-17 | 18-19 | 20-21 | 22-23 | 24-25
35-37 - - - - 2 - 2
32-34 - - - - 14 - -
2931 - 2 4 18 20 - -
26-28 - 8 10 16 20 8 2
23-25 6 16 10 8 2 -
20-22 6 2 2 - - -
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